

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

	Contract ID Prime Contr	250221-Di actor Don Schni	06 ieders Excavating Co	ompany, In	Pay Period Sinc. Pay Period E			025 Net Chan		ount (\$2	2,889.34 4,167.69 8,721.65				
Approval Date										By U	lser				
November 3, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by														
November 3, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by														
November 4, 2025	Reviewed and Approved at the Central Office Controllers Office Level by														
Original Completion Date Current Completion Date Actual Completion Date									ate % of Current Contract Amount Complete						
December 1, 20)25	Decem	ber 1, 2025						95.47%						
	Co	ontract Informat	tional Dates					Mile	stones						
Date Description	Original Co	mpletion Date	Current Completio	n Date		Date De	escription	Original	Current	Days	Diary				
Acceptance Date								Completion Date	Completion Date	Remaining	Charge Days				
Awarded Date	March 5, 2025 March 5		March 5, 2025							Milestone					
Letting Date	February 21	, 2025	February 21, 2025				October	October	Milestone						
Notice to Proceed Date	e April 7, 2025 A		April 7, 2025			JCD0101 Bridg A9538 All		13, 2025	13, 2025	Complete					
Work Began Date	May 22, 202	25	May 22, 2025			Roadwa Items C	ıy/Bridge omplete								

Contract Total Pay	For Estimate No. 13			
		This Estimate	Previous	To Date
250221-D06				
	Total Posted Items Pay	\$7,193.00	\$1,146,718.79	\$1,153,911.79
	Gross Item Adjustments	(\$697.41)	(\$24,492.05)	(\$25,189.46)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	-		\$1,122,226.74	\$1,128,722.33
Contract Total Paya	able This Estimate:	\$6,495.59		

Items Paid This	Estimate Per	<u>riod</u>								
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
JCD0101	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$20,830.000	0.100	\$2,083.00			
	0200	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$15,000.000	0.250	\$3,750.00			
	0300	9031280	2.5 IN. PSST POST - 12 GA.	LF	\$30.000	32	\$960.00			
	0310	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	EA	\$200.000	2	\$400.00			
Project JCD01	01 - Total						\$7,193.00			
Overall - Total										
Contract Adjus	tments This E	<u>stimate</u>								

No Contract Adjustments Exist on Contract

Line Item A	Adjustr	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0101	0170	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-1,107	\$0.63	(\$697.41)
	0170	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	MaterialCredit			1,107	\$0.63	\$697.41
	0180	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-1,107	\$0.63	(\$697.41)
	0210	MISC.	Material			-0.80000	\$4,000.00	(\$3,200.00)
	0210	MISC.	MaterialCredit			0.80000	\$4,000.00	\$3,200.00

Page 1 of 11 Revision 10/17/2025



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2025

Progress Contract ID 250221-D06 Pay Period Start October 16, 2025 Original Contract Amount \$1,232,889.34
Estimate Number Prime Contractor Don Schnieders Excavating Company, Inc. 13 Pay Period End November 1, 2025 Net Change Order Amount (\$24,167.69)
Current Contract Amount \$1,208,721.65

	ne lo.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
D0101 03		BRIDGE APPROACH SLAB (MINOR ROAD)	Material			-116	\$126.00	(\$14,616.00
03		BRIDGE APPROACH SLAB (MINOR ROAD)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	116	\$126.00	\$14,616.00
03		CLASS B CONCRETE (SUBSTRUCTURE)	Material			-54.20000	\$575.00	(\$31,165.00
03		CLASS B CONCRETE (SUBSTRUCTURE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user snells1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	54.20000	\$575.00	\$31,165.00
50	001	EMBANKMENT IN PLACE	Material			-196	\$62.27	(\$12,204.92
50	001	EMBANKMENT IN PLACE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	196	\$62.27	\$12,204.92

Revision 10/17/2025 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JCD0101	FAS S403(55)	Bridge replacement	SOR 44	LACLEDE	over Bear Creek east of	Lebanon						
Totals by Job Numbers												
JCD0101					This Estimate	Previous	To Date					
		l Item Pay Item Adjustme			\$7,193.00 (\$697.41)	\$1,146,718.79 (\$24,492.05)	\$1,153,911.79 (\$25,189.46)					
	Gross Item Pay				\$6,495.59	\$1,122,226.74	\$1,128,722.33					
	Incent	ive			\$0.00	\$0.00	\$0.00					
Disincentive \$0.00 \$0.00 \$0.00												
Liquidated Damages					\$0.00	\$0.00	\$0.00					
Other Contract Adjustments \$0.00 \$0.00 \$0.00												

Revision 5/29/2025 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 2035500, Project Item Line Number 5001, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	Materials testing needs to be finalized and entered.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 5031011A, Project Item Line Number 0340, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	Working with District Materials to resolve exception. Asphalt option chosen, negating need for drain.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 6206000C, Project Item Line Number 0170, Material Set 6206000C96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 6206000C, Project Item Line Number 0170, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 6206001C, Project Item Line Number 0180, Material Set 6206001C96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 6206001C, Project Item Line Number 0180, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 7032003, Project Item Line Number 0370, Material Set 703200396, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Awaiting contractor results to be entered.	snells1	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 8059901, Project Item Line Number 0210, Material Set 805990196, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 8059901, Project Item Line Number 0210, Material Set 805990196, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 8059901, Project Item Line Number 0210, Material Set 805990196, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JCD0101, Item 8059901, Project Item Line Number 0210, Material Set 805990196, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Awaiting certifications from Contractor.	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 250221-D06, Contract Project JCD0101, Project Item Line Number 5003, Contract Line Item Number 5003, Item 4011211, Minor Item.	A Change Order is being drafted to resolve exception.	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 250221-D06, Contract Project JCD0101, Project Item Line Number 5004, Contract Line Item Number 5004, Item 4071005, Minor Item.	A Change Order is being drafted to resolve exception.	snells1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 250221-D06, Contract Project JCD0101, Project Item Line Number 5006, Contract Line Item Number 5006, Item 1046002, Minor Item.	A Change Order is being drafted to resolve exception.	snells1	Acknowledged

Revision 5/29/2025 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0221-	JCD0101	0001	0010	1081000	SIGNET DBE REPORTING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.00
)6		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$20,830.00	\$20,830.00
		0001	0030	2031000	CLASS A EXCAVATION	386.00	-386.00	0.00	CUYD	0.00	\$8.00	\$0.00
		0001	0040	2036000	COMPACTING EMBANKMENT	196.00	-196.00	0.00	CUYD	0.00	\$6.15	\$0.00
		0001	0050	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	6.00	0.00	6.00	100F	0.00	\$893.00	\$0.00
		0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	1,546.00	-1,546.00	0.00	SQYD	0.00	\$9.75	\$0.00
		0001	0070	4019905	MISC.OPTIONAL PAVEMENT	1,546.30	-1,546.30	0.00	SQYD	0.00	\$76.00	\$0.00
		0001	0800	6113020	FURNISHING TYPE 2 ROCK BLANKET	821.00	0.00	821.00	CUYD	821.00	\$43.40	\$35,631.40
		0001	0090	6113040	PLACING TYPE 2 ROCK BLANKET	821.00	0.00	821.00	CUYD	821.00	\$21.90	\$17,979.90
		0001	0100	6161005	CONSTRUCTION SIGNS	426.00	-231.00	195.00	SQFT	195.00	\$7.00	\$1,365.00
		0001	0110	6161008	ADVANCED WARNING RAIL SYSTEM	3.00	0.00	3.00	EA	3.00	\$54.00	\$162.00
		0001	0120	6161025	CHANNELIZER (TRIM-LINE)	40.00	-35.00	5.00	EA	5.00	\$20.00	\$100.00
		0001	0130	6161030	TYPE 3 MOVEABLE BARRICADE	10.00	-4.00	6.00	EA	6.00	\$125.00	\$750.00
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	3.00	0.00	3.00	EA	3.00	\$2,400.00	\$7,200.00
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.88	\$140,000.00	\$123,200.00
		0001	0160	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,384.00	0.00	1,384.00	LF	1,107.00	\$0.63	\$697.4
		0001	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,384.00	0.00	1,384.00	LF	1,107.00	\$0.63	\$697.4
		0001	0190	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	850.00	0.00	850.00	SQYD	850.00	\$5.05	\$4,292.50
		0001	0200	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
		0001	0210	8059901	MISC.SEED AND MULCH - COOL SEASON MIXTURES	1.00	0.00	1.00	LS	0.80	\$4,000.00	\$3,200.00
		0001	0220	8061005	ROCK DITCH CHECK	165.00	0.00	165.00	LF	85.00	\$12.00	\$1,020.00
		0001	0230	8061006	ALTERNATE DITCH CHECK	150.00	0.00	150.00	LF	0.00	\$12.00	\$0.00
		0001	0240	8061016	SEDIMENT REMOVAL	24.00	0.00	24.00	CUYD	0.00	\$20.00	\$0.00
		0001	0250	8061019	SILT FENCE	1,308.00	0.00	1,308.00	LF	745.00	\$3.00	\$2,235.00
		0001	0260	8061050	TYPE C BERM	315.00	-57.00	258.00	LF	258.00	\$25.00	\$6,450.00
		0010	0270	6061060	MGS GUARDRAIL	275.00	0.00	275.00	LF	275.00	\$30.00	\$8,250.0
		0010	0280	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,200.00	\$16,800.0
		0010	0290	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,800.00	\$15,200.0
		0040	0300	9031280	2.5 IN. PSST POST - 12 GA.	32.00	0.00	32.00	LF	32.00	\$30.00	\$960.00
		0040	0310	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	2.00	0.00	2.00	EA	2.00	\$200.00	\$400.00
		0070	0320	2061000	CLASS 1 EXCAVATION	400.00	23.00	423.00	CUYD	423.00	\$36.00	\$15,228.00
		0070	0330	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$68,240.00	\$68,240.0
		0070	0340	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	116.00	0.00	116.00	SQYD	116.00	\$126.00	\$14,616.00
		0070	0350	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	652.00	0.00	652.00	LF	524.00	\$158.50	\$83,054.00
		0070	0360	7027000	PILE POINT REINFORCEMENT	34.00	0.00	34.00	EA	34.00	\$120.00	\$4,080.00
		0070	0370	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	154.20	0.00	154.20	CUYD	154.20	\$575.00	\$88,665.00
		0070	0380	7034219A	TYPE D BARRIER	308.00	0.00	308.00	LF	308.00	\$133.00	\$40,964.00
		0070	0390	7034221	SLAB ON CONCRETE NU-GIRDER	338.00	0.00	338.00	SQYD	338.00	\$718.00	\$242,684.00
		0070	0400	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	402.00	0.00	402.00	LF	402.00	\$425.00	\$170,850.00
		0070	0410	7061060	REINFORCING STEEL (BRIDGES)	7,540.00	0.00	7,540.00	LB	7,540.00	\$1.60	\$12,064.00
		0070	0420	7123610	SLAB DRAIN	16.00	0.00	16.00	EA	16.00	\$725.00	\$11,600.00
		0070	0430	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0070	0440	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	8.00	\$275.00	\$2,200.00
		0001	5001	2035500	EMBANKMENT IN PLACE	0.00	196.00	196.00	CUYD	196.00	\$62.27	\$12,204.9
		0001	5002	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	0.00	487.00	487.00	TONS	316.82	\$147.00	\$46,572.54
		0001 5003 4011211 BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)				0.00	166.00	166.00	TONS	321.09	\$126.00	\$40,457.3
		0001	5004	4071005	TACK COAT	0.00	200.00	200.00	GAL	256.00	\$5.25	\$1,344.0
		0001	5005	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	0.00	89.00	89.00	SQYD	89.00	\$9.18	\$817.0
		0001	5006	1046002	VALUE ENGINEERING	0.00		9,555.07	EA	10,850.35	\$1.00	\$10,850.3
	Project IC	D0101 - To			Date as of Report Generated Date	5.55	2,230.07	2,300.07	٠.٠	. 2,300.00	\$1.50	
				POSTED TO	vate as of Report Generated Date							\$1,153,911.79

Revision 5/29/2025 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0101

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2022010	REMOVAL OF IMPROVEMENTS	10/31/25	11/3/25	1	0.10	LS	Project Complete					
0200	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	10/31/25	11/3/25	1	0.25	LS	Project Completed.					
0300	9031280	2.5 IN. PSST POST - 12 GA.	10/31/25	11/3/25	1	32.00	LF	Plan locations					
0310	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	10/31/25	11/3/25	1	2.00	EA	Plan locations					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 6 of 11



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
CD0101	0170	4 IN. WHITE WATERBORNE	Material		12	Oct 15, 2025	SYSTEM	(\$697.41)	
		PAVEMENT MARKING			13	Nov 3, 2025	SYSTEM	(\$697.41)	
				- Total				(\$1,394.82)	
			Material - Tota	1				(\$1,394.82)	
			MaterialCredit		13	Nov 3,	SYSTEM	\$697.41	
						2025			
				- Total				\$697.41	
			MaterialCredit	- Total				\$697.41	
	0170 -							(\$697.41)	
	0180	4 IN. YELLOW WATERBORNE PAVEMENT	Material		12	Oct 15, 2025	SYSTEM	(\$697.41)	
		MARKING			12	Oct 15, 2025	SYSTEM	\$697.41	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					13	Nov 3, 2025	SYSTEM	(\$697.41)	
				- Total				(\$697.41)	
			Material - Tota					(\$697.41)	
	0180 -	Total						(\$697.41)	
	0210	MISC. SEEDING	Material		12	Oct 15, 2025	SYSTEM	(\$3,200.00)	
					13	Nov 3, 2025	SYSTEM	(\$3,200.00)	
				- Total				(\$6,400.00)	
			Material - Tota	ı				(\$6,400.00)	
			MaterialCredit		13	Nov 3, 2025	SYSTEM	\$3,200.00	
				- Total				\$3,200.00	
			MaterialCredit	- Total				\$3,200.00	
	0210 -							(\$3,200.00)	
	0250	SILT FENCE	Material		4	Jun 16, 2025	SYSTEM	(\$2,235.00)	
					4	Jun 16, 2025	SYSTEM	\$2,235.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thompp1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0250 -	Total						\$0.00	
	0270	MGS GUARDRAIL	Construction Stockpile		12	Oct 15, 2025	SYSTEM	(\$3,536.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$3,536.50)	
			Construction S	Stockpile - To	otal			(\$3,536.50)	
			Construction Stockpile STMI		4	Jun 16, 2025	SYSTEM	\$3,536.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$3,536.50	
			Construction S	Stockpile STI	/II - Total			\$3,536.50	
	0270 -							\$0.00	
	0280	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		12	Oct 15, 2025	SYSTEM	(\$8,546.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	tol			(\$8,546.00)	
			Construction	stockpile - To		lun 40	CVCTEN4	(\$8,546.00)	Doumant Estimate Item Adjustment governted Challes In Transaction
			Construction Stockpile STMI	T-4-1	4	Jun 16, 2025	SYSTEM	\$8,546.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			0	- Total				\$8,546.00	
	0000	Takal	Construction	Stockpile STI	nı - Total			\$8,546.00	
	0280 -	lotal						\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
JCD0101	0290	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		12	Oct 15, 2025	SYSTEM	(\$7,400.00)	Payment Estimate Item Adjustment generated Stockpile Transaction										
		(MASH)		- Total				(\$7,400.00)											
			Construction	Stockpile - To	otal			(\$7,400.00)											
			Construction Stockpile STMI		4	Jun 16, 2025	SYSTEM	\$7,400.00	Payment Estimate Item Adjustment generated Stockpile Transaction										
			0.1111	- Total				\$7,400.00											
			Construction	Stockpile STI	MI - Total			\$7,400.00											
	0290 -	Total						\$0.00											
	0320	CLASS 1 EXCAVATION	Overrun	Overrun	4	Jun 16, 2025	SYSTEM	(\$828.00)											
					10	Sep 15, 2025	SYSTEM	\$828.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',36.00000 - 36.00000, 'is applied (if non-zero).										
				Overrun - Total				\$0.00											
			Overrun - Tota					\$0.00											
	0320 -	Total						\$0.00											
		BRIDGE APPROACH SLAB	Material		12	Oct 15, 2025	SYSTEM	(\$14,616.00)											
		(MINOR ROAD)			12	Oct 15, 2025	SYSTEM	\$14,616.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
					13	Nov 3, 2025	SYSTEM	(\$14,616.00)											
					13	Nov 3, 2025	SYSTEM	\$14,616.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
				- Total				\$0.00											
			Material - Tota					\$0.00											
			Other Item Adjustment	ACAD	12	Oct 15, 2025	snells1	\$28.71	This adjustment is for material placed on 10/07/2025. A copy of the adjustment is on file in E- projects.										
															12	Oct 15, 2025	snells1	\$6.70	This adjustment is for material placed on 10/08/2025. A copy of the adjustment is on file in E- projects.
				ACAD - Tota	al			\$35.41											
				FUEL	12	Oct 15, 2025	snells1	\$21.61	This adjustment is for material placed on 10/07/2025. A copy of the adjustment is on file in E- projects.										
					12	Oct 15, 2025	snells1	\$4.32	This adjustment is for material placed on 10/08/2025. A copy of the adjustment is on file in E- projects.										
				FUEL - Tota				\$25.93											
			Other Item Ad	justment - To	tal			\$61.34											
	0340 -	Total						\$61.34											
	0370	CLASS B CONCRETE (SUBSTRUCTURE)	Material		6	Jul 16, 2025	SYSTEM	(\$14,375.00)											
		(3020111001011L)			7	Aug 4, 2025	SYSTEM	(\$12,535.00)											
					8	Aug 18, 2025	SYSTEM	(\$31,165.00)											
					9	Sep 2, 2025	SYSTEM	(\$31,165.00)											
					9	Sep 2, 2025	SYSTEM	\$31,165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					10	Sep 15, 2025	SYSTEM	(\$31,165.00)											
					10	Sep 15, 2025	SYSTEM	\$31,165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					11	Oct 1, 2025	SYSTEM	(\$31,165.00)											
					11	Oct 1, 2025	SYSTEM	\$31,165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.										



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks										
ICD0101	0370	CLASS B CONCRETE	Material		12	Oct 15, 2025	SYSTEM	(\$31,165.00)											
		(SUBSTRUCTURE)			12	Oct 15, 2025	SYSTEM	\$31,165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user snells1 overridding Payment Estimate Exception 7 on the current Payment Estimate.										
					13	Nov 3, 2025	SYSTEM	(\$31,165.00)											
					13	Nov 3, 2025	SYSTEM	\$31,165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user snells1 overridding Payment Estimate Exception 7 on the current Payment Estimate.										
				- Total				(\$58,075.00)											
			Material - Tota	ıl				(\$58,075.00)											
			MaterialCredit		7	Aug 4, 2025	SYSTEM	\$14,375.00											
					8	Aug 18, 2025	SYSTEM	\$12,535.00											
					9	Sep 2, 2025	SYSTEM	\$31,165.00											
				- Total				\$58,075.00											
			MaterialCredit	- Total				\$58,075.00											
	0370 -	Total						\$0.00											
	0390	SLAB ON CONCRETE NU- GIRDER	Material		9	Sep 2, 2025	SYSTEM	(\$230,549.80)											
		SINDLIN			9	Sep 2, 2025	SYSTEM	\$230,549.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
				- Total				\$0.00											
			Material - Tota	ı				\$0.00											
	0390 -	Total						\$0.00											
	0430	VERTICAL DRAIN AT END BENTS	Material		10	Sep 15, 2025	SYSTEM	(\$4,000.00)											
					10	Sep 15, 2025	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 2 on the current Payment Estimate.										
						11	Oct 1, 2025	SYSTEM	(\$4,000.00)										
					11	Oct 1, 2025	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user snells1 overridding Payment Estimate Exception 3 on the current Payment Estimate.										
				- Total				\$0.00											
			Material - Tota	I				\$0.00											
	0430 -							\$0.00											
	5001	EMBANKMENT IN PLACE	Material		11	Oct 1, 2025	SYSTEM	(\$12,204.92)											
															11	Oct 1, 2025	SYSTEM	\$12,204.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	Oct 15, 2025	SYSTEM	(\$12,204.92)											
					12	Oct 15, 2025	SYSTEM	\$12,204.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
					13	Nov 3, 2025	SYSTEM	(\$12,204.92)											
					13	Nov 3, 2025	SYSTEM	\$12,204.92	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user snells1 overridding Payment Estimate Exception 1 on the current Payment Estimate.										
				- Total				\$0.00											
			Material - Tota	ı				\$0.00											
	5001 -	Total						\$0.00											
	5002	BITUMINOUS PAVEMENT	Other Item Adjustment	ACAD	12	Oct 15, 2025	snells1	\$142.57	This adjustment is for material placed on 10/07/2025. A copy of the adjustment is on file in E- projects.										
	(BAS	JRE PG64-22	ACAD - Tota	al			\$142.57												



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0101	5002	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	Other Item Adjustment - Total					\$142.57	
			Price FUEL		12	Oct 15, 2025	SYSTEM	\$107.29	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$107.29	
			Price FUEL - Total					\$107.29	
	5002 -	2 - Total						\$249.86	
	5003	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Other Item Adjustment	ACAD	12	Oct 15, 2025	snells1	\$168.57	This adjustment is for material placed on 10/08/2025. A copy of the adjustment is on file in E- projects.
				ACAD - Total				\$168.57	
			Other Item Adjustment - Total					\$168.57	
			Overrun	Overrun	12	Oct 15, 2025	SYSTEM	(\$19,593.86)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - Total				(\$19,593.86)	
			Overrun - Total					(\$19,593.86)	
			Price FUEL		12	Oct 15, 2025	SYSTEM	\$108.73	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$108.73	
			Price FUEL - Total					\$108.73	
	5003 -	- Total						(\$19,316.56)	
	5004	TACK COAT	Overrun	Overrun	12	Oct 15, 2025	SYSTEM	(\$294.00)	
				Overrun - Total				(\$294.00)	
			Overrun - Total					(\$294.00)	
	5004 -	04 - Total						(\$294.00)	
	5006	VALUE ENGINEERING	Overrun	Overrun	12	Oct 15, 2025	SYSTEM	(\$1,295.28)	
				Overrun - Total				(\$1,295.28)	
			Overrun - Total					(\$1,295.28)	
	5006 -	06 - Total						(\$1,295.28)	
JCD0101 - Total							(\$25,189.46)		
Overall - Total							(\$25,189.46)		

MoDOT

Contract Adjustments for Contract - 250221-D06

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 11 of 11